C TR EE R E (BKE)



IERAERTER

. i 7R -
il Ml no neE | L £ G
O  RWAEITS  HRE 138 DIP ¢ 200 1.30 1T X 2.0m 2.00
D-1 AWk o7 EE 39%  DIP ¢ 200 1.30 1 x<2.0m 2.00
@  BKRE HE 397 DIP ¢ 150 0.90 188.50
@  BKE HE 397 DIP ¢ 150 1.30 115.40
@  EKRE HE 397 DIP ¢ 75 0.90 239.20
®  BKRE HE 397 DIP ¢ 100 0.90 104.10
® |BEERfEfE H3E 397 DIP ¢ 75 1.30 240.00
@ | BEERfE#E E3E 39% | DIP¢ 100 1.30 104.00
PERvE i EoE 395 DIP ¢ 150 1.30 270.00




+ T ¥ & 4E 5t &
@® D-1 @ ®) @ ® ® @
ol | RIS | mk | mUKE | K | ROKE | BERVIPHC: | BERTNGE | MR
& B V7 A=
&85 | @
DIP ¢ 200 DIP ¢ 150 DIP ¢ 150 DIP ¢ 150 DIP ¢ 75 DIP ¢ 100 DIP ¢ 75 DIP ¢ 100 DIP ¢ 150
DP=1.3m DP=1.3m DP=0.9m DP=1.3m DP=0.9m DP=0.9m DP=1.3m DP=1.3m DP=1.3m
HIE O 13M | dUE 39MY | HEiE 39 | HuE 39U | HEiE 39 | HuE 39 | HEiE 39 | HuE 39 | HEiE 397
ShAERR B T t=Hcm 5.2 2.0 259.7 | 232.2 | 479.6 | 208.2 | 240.0 26.8 407.1 |1860.8 | 1860
- E o e I I I I N B N D e
0.20BH t=10cmPA F 2.4 5.2 132.0 80.8 143.5 67.7 144.0 62.4 162.0 | 800.0 | 800
Fbs AR L 0.20BH 4.1 3.9 134.6 | 114.7 | 134.9 65.6 191.5 84.4 224.0 | 957.7 960
HET (S%ET) 0.20BH 3.7 3.0 6.7 7
HRT (AT 0.20BH 85.5 84.7 84.5 41.5 144.0 64.3 175.0 | 679.5 680
ST e 4.1 3.9 39.6 20.6 41.0 19.5 31.5 13.0 29.6 | 202.8 203
ST AS 0.1 0.1 6.60 4.0 7.2 3.4 7.2 3.1 8.1 39.8 40
BAGAeE |
TE AT t=19cm 2.4 132.0 80.8 143.5 67.7 144.0 62.4 162.0 | 794.8 795
BAGAeE |
TE KA T.ONE) t=10cm 2.4 2.4 2
Eive ey v ) v < R N A R S B B B N R D R
BT t=15cm 2.4 132.0 80.8 143.5 67.7 144.0 62.4 162.0 | 794.8 795
[0 v =0 N N IR A R R D S R R DR
#JE L (fjH) | t=5cm PK3 2.4 132.0 80.8 143.5 67.7 144.0 62.4 162.0 | 794.8 795
[0 v =0 N N IR AR R R D SR R R DR
FJE T (#55H) | t=3cm PK3 2.4 2.4 2




+TEHEE
HAE 137
AWK E| T

DIP ¢ 200mm X ¢ 150mm DP=1.30m

R R DIP ¢ 200 MRS 169 m
SR 0.03 m BedE 159 m B+
BIFO 0.200 m B 010 m @B
AR 0.220 m R m ERER
FHE S RS 1.20 m AS 0.03 m
PRHI R 2.00 2.00
SRR T
t=3cm 2.00 2 + .20 X 1 = 5.2
EfiE R EUE T
As t=10cmPL 2.00 1.20 = 2.4
FE AR T
2.00 1.20 X 1.69 = 4.1
HWERT (&EB1)
1.20 1.59 - 0.220 2
X
7 = 4 ) X 2.00 = 3.7
A TG4 1)
4.1 0.0 )=+ 0.9 = 4.1
¥ AL T.(AS)
2.4 0.03 = 0.07
T E A T
FAYIARA t=10cm 2.00 1.20 = 2.4
RC-40
LT
HARFEA t=15cm -
RM-40
F=ET
HABRET 2720 t=3cm 2.00 1.20 = 2.4

PK—3




T TEEE
Hi1E 397
AWK VT

DIP ¢ 150mm DP=1.30m

D-1
R R DIP ¢ 150 MRS 162 m
SR 0.05 m BedE 128 m B+
BIFO 0.150 m B 019 m @B
AR 0.169 m BAE 015 m  FEEE
FHE S RS 1.20 m AS 0.05 m
PRHI R 2.00 2.00
SRR T
t=3cm 2.00 2 + .20 X 1 = 5.2
EfiE R EUE T
As t=10cmPL 2.00 1.20 = 2.4
FE AR T
2.00 1.20 X 1.62 = 3.9
HWERT (&EB1)
1.20 1.28 - 0.169 2
X
7 = 4 ) X 2.00 = 3.0
A TG4 1)
3.9 0.0 )=+ 0.9 = 3.9
¥ AL T.(AS)
2.4 0.05 = 0.12
T E A T
FAYIARA t=19cm 2.00 1.20 = 2.4
RC-40
LT
HARFERA t=15cm 2.00 1.20 = 2.4
RM-40
F=ET
HABRET 270 t=5cm 2.00 1.20 = 2.4

PK—3




T TEHEE
HijE 397
Bk &
DIP ¢ 150mm DP=0.9m

&)
BT ER DIP ¢ 150 BEARIEA. 1.02  m
B IR 0.05 m BebkdR 068 m A+
EIEOME 0.150 m B 019 m  FEERE%
BIME 0.169 m BAE 015 2 m  [JERE
AR S RHIE 0.70 m AS 0.05 m
PR A IE R 188.50 188.50
SRR BT T
t=5cm 188.50 X 2 + 0.70 X 2 = 259.7
- 118.70  (FR#Euhpa1l)
SRR U T
As t=10cmPL T 188.50 X 0.70 = 132.0
TR I T
0.70 X 1.02 X 188.500 = 134.6
HET (F&4+)
( 0.70 X 0.68 - 0.169 2
X
X n = 4 ) X 188.50 = 85.5
¥y TR AET) Fe A+
134.6 - 8.5 + 0.9 = 39.6
¥ 4L T.(AS)
132.0 X 0.05 = 6.60
TRE AT
FAYIARA t=19cm 188.50 X 0.70 = 132.0
RC-40
FERET
FARIFIMA t=15cm 188.50 X 0.70 = 132.0
RM-40
FKET
FERIET 2 t=5cm 188.50 X 0.70 = 132.0
PK—3




+TEHEE
HE 397
Bic K &

DIP ¢ 150mm DP=1.3m

R R DIP ¢ 150 MRS 142 2 m
SR 0.05 m B E  1.08 m R+
BIFO 0.150 m B 019 m @B
AR 0.169 m BAE 015 m  FEEE
FHE S RS 070 m AS 0.05 m
PRHI R 115.40 115.40
SRR T
t=5cm 115.40 2 + 0.70 X 2 = 232.2
EfiE R EUE T
As t=10cmPL 115.40 0.70 = 80.8
FE AR T
115.40 0.70 X 1.42 = 114.7
WERT (B4E+)
0.70 1.08 - 0.169 2
X
7 = 4 ) X 115.40 = 84.7
A TG4 1) Skt
114.7 84.7  + 0.9 = 20.6
Ly T.(AS)
80.8 0.05 = 4.0
T E A T
FAYIARA t=19cm 115.40 0.70 = 80.8
RC-40
LT
FARFRE t=15cm 115.40 0.70 = 80.8
RM-40
F=ET
HABRET 270 t=5cm 115.40 0.70 = 80.8

PK—3




+TEHEE
HE 397
Bic K &

DIP ¢ 75mm DP=0.9m

R R DIP ¢ 75 MRS 094 m
SR 0.05 m BeEE 060 m R+
BIFO 0.075 m B 019 m @B
AR 0.093 m BAE 015 m  FEEE
FHE S RS 060 m AS 0.05 m
PRHI R 239.20 239.20
SRR T
t=5cm 239.20 2 + 0.60 X 2 = 479.6
EfiE R EUE T
As t=10cmPL 239.20 0.60 = 143.5
FE AR T
0.60 0.94 X 239.200 = 134.9
WERT (B4E+)
0.60 0.60 - 0.093 2
X
7 = 4 ) X 239.20 = 84.5
A TG4 1) Skt
134.9 84.5  + 0.9 = 41.0
Ly T.(AS)
143.5 0.05 = 7.2
T E A T
FAYIARA t=19cm 239.20 0.60 = 143.5
RC-40
LT
FARFRE t=15cm 239.20 0.60 = 143.5
RM-40
F=ET
HABRET 270 t=5cm 239.20 0.60 = 143.5

PK—3




+TEHEE
HE 397
Bic K &

DIP ¢ 100mm DP=0.9m

R R DIP ¢ 100 MRS 097 m
SR 0.05 m BEE 063 m R+
BIFO 0.100 m B 019 m @B
AR 0.118 m BAE 015 m  FEEE
FHE S RS 065 m AS 0.05 m
PRHI R 104.10 104.10
SRR T
t=5cm 104.10 2 + 0.65 X 1 = 208.2
EfiE R EUE T
As t=10cmPL 104.10 0.65 = 67.7
FE AR T
0.65 0.97 X 104.100 65.6
WERT (B4E+)
0.65 0.63 - 0.118 2
X
7 = 4 ) X 104.10 = 41.5
A TG4 1) Skt
65.6 415  + 0.9 = 19.5
Ly T.(AS)
67.7 0.05 = 3.4
T E A T
FAYIARA t=19cm 104.10 0.65 = 67.7
RC-40
LT
FARFRE t=15cm 104.10 0.65 = 67.7
RM-40
F=ET
HABRET 270 t=5cm 104.10 0.65 = 67.7

PK—3




+TEHEE
HE 397

DIP ¢ 75mm DP=1.3m

R R DIP ¢ 75 MRS 1.340 m
SRR 005 m BeEE 1.000 m R+
BIFO 0.075 m B 019 m @B
AR 0.089 m BAE 015 m  FEEE
FHE S RS 060 m AS 0.05 m
PRHI R 240.00 240.00
SRR T
t=5cm 240.00 1 = 240.0
EfiE R EUE T
As t=10cmPL 240.00 0.60 = 144.0
FE AR T
0.60 1.34 - 0.089 2
7 = 4 ) X 240.00 = 191.5
WERT (B4E+)
240.00 0.60 X 1.00 = 144.0
A TG4 1) Skt
191.5 144.0 + 0.9 = 31.5
¥ AL T.(AS)
144.0 0.05 = 7.2
T E A T
FAYIARA t=19cm 240.00 0.60 = 144.0
RC-40
LT
FARFRE t=15cm 240.00 0.60 = 144.0
RM-40
F=ET
HABRET 270 t=5cm 240.00 0.60 = 144.0

PK—3




+TEHEE
HE 397

DIP ¢ 100mm DP=1.3m

EHEER DIP ¢ 100 FEAREEN  1.370 m
SRR 005 m BEE 1.030 m R+
BIFO 0.100 m B 019 m @B
AR 0.118 m BAE 015 m  FEEE
FHE S RS 060 m AS 0.05 m
PRHI R 104.00 104.00
SRR T
t=5cm 26.80 1 = 26.8
(20.13+6.7)
EfiE R EUE T
As t=10cmPL 104.00 0.60 = 62.4
FE AR T
0.60 1.37 - 0.118 2
7 = 4 ) X 104.00 = 84.4
WERT (B4E+)
104.00 0.60 X 1.03 = 64.3
S TRAT) R+
84.4 64.3  + 0.9 = 13.0
55 T.(AS)
62.4 0.05 = 3.1
T E A T
FAYIARA t=19cm 104.00 0.60 = 62.4
RC-40
LT
FARFRE t=15cm 104.00 0.60 = 62.4
RM-40
F=ET
HABRET 270 t=5cm 104.00 0.60 = 62.4

PK—3




+TEHEE
HE 397

DIP ¢ 150mm DP=1.3m

R R DIP ¢ 150 BEARIE AL m
HEWE 0.05 m AR 5 m  RBE+
BIFO 0.150 m m  FERE
AR 0.169 m m FJEEE
FHE S RHIE 060 m m
PRHI R 270.00 270.00
SRR T
t=5cm 270.00 2 - 132.90 407.1
(G pE )
EfiE R EUE T
As t=10cmPL 270.00 0.60 162.0
P Ak A T
0.60 1.42 - 0.169
7 4 ) 224.0
WERT (B4E+)
270.00 0.60 X 1.08 175.0
A TG4 1) Skt
224.0 175.0 0.9 29.6
Ly T.(AS)
162.0 0.05 8.1
T E A T
FAYIARA t=19cm 270.00 0.60 162.0
RC-40
LT
BARIFRET t=15cm 270.00 0.60 162.0
RM-40
F=ET
HABRET 270 t=5cm 270.00 0.60 162.0

PK—3







ALK EAMRE
GX ¢ 75mm * ¢ 100mm * ¢ 150mm

woE L B 1% o O& | B L
H A X T ¢ 75 236.7 m
H A X T ¢ 100 102.1 m
H A X T ¢ 150 297.7 m
o8 m b W L ¢ 75 17 b
BBk F W W T ¢ 100 11 i
BBk F W W T ¢ 150 33 i
1 A T EE ¢75 58 N
% = T EE ¢ 100 25 M
% = T EE ¢ 150 59 M
1 A T RIVE ¢ 75 20 N
% = T I ¢ 100 12 M
% = T I ¢ 150 35 M
% = T PU>7 ¢ 15 1 M
% = T PU>7 ¢ 100 1 M
% = T PU>7 ¢ 150 1 M
% = T GU>7 15 19 M
% = T GUv7 ¢ 100 14 M
% = T GUv7 ¢ 150 35 M
it 9 » & B L NT) ¢ 75 5 5
it o » & BE I A71 ¢ 100 4 5
it 9 » & B L AN71 ¢ 150 14 5
U A ERE L A, 15 25 & T




VI EITE S =

GX ¢ 75mm * ¢ 100mm * ¢ 150mm

w®OE L B 1% & | B 7
ok B OB OB L A7) HnO 3 & T
oK o R E L A7) HnO 3 & T
7 7 v Y Ok F L ¢ 75 12 =
by vay p)— MRy ) AR E T M35 6 1lE
AT = Hh vk FE L Figk ¢ 75 1 i
AT = Hh vk FE L %k ¢ 100 1 i
AT = Hh vk FE L %k ¢ 150 4 i
AWK BTFERE T | DIP¢200X ¢ 150 1 & T
KWK NN LT HBET DIP ¢ 150 1 & T
v W or 7 — 7 L ¢ 75 272.6 m
w W or 7 — 7 L ¢ 100 130.0 m
W or 7 — 7 T ¢ 150 496.0 m
¥ B or v — b T 635.4 m
ok B W W T DIP ¢ 75 2 =
ok B W W T DIP ¢ 100 2 =
&k B W W T DIP ¢ 150 8 =
H A B T HIVP ¢ 50 6 m




BoOoEE B 2 (BdKE)



A

Vi

i e % 7 A SETEE f@é FHT TR vu | s
il - = = =
. 1 = . . . . . . H300. | 100X | ¢100X | $150X | 6 150X | ¢ 150X | ¢ 150X | ¢ 100X | 675X | ¢ 100X | 6 150X | 6200 |HIVP ¢ 50
N o A 111/4° |221/2 45 111/4° |221/2 45 150 075 5 100 075 5100 | 6150 | 100 075 575 75 075 | 79¥150 | 754500 w o
GX¢75 DP=0.9m| 50 8 58 2 2 7 3 2 1 2 2 1.5
GX ¢ 100 DP=0.9m| 20 5 25 1 2 2 2 1 1 1 1 1 1 1.2
GX 9150 DP=0.9~1.3m 45 17 62 2 6 1 6 2 3 1 3 3 2 1 5.6 6.0
it 1 1 3 1 3 1 1 2 1 3 5 1 9.0 6.0
- 2T VA o o . e RBTK .
HHEF e | 2L o | HKHREE | PekopiE VTR AR HAE e | RBTK ]
] A FCD | ®{ES | AT LA e g 5 . s FTFE | L5
T - 4 o e [P Ak | sz R R S4% | PUrs | GUv2 SSVT < —— —— — —
- H kA - PR o o . DIP ¢ 200 g | BV | 2T Lo | FEEN | Wk [ ST
75%200 75%200 500X 690 | 500 X 690 ZAHL B RE X o150 |PPO 180 | AR | 0 T UL AR | D e T | kS
GX¢75 DP=0.9m| 2 2 1 1 5 5 20 16 1 19 1
GX ¢ 100 DP=0.9m| 1 1 1 1 3 4 4 12 10 1 14 1 1 1
GX¢150 DP=0.9~1.3m 1 1 2 2 2 1 7 1 14 16 35 28 1 35 4 4 16 8 4 4 8
G 3 3 3 3 3 3 25 1 1 6 4 16 8 4 4 8
Vorin 2u
B K B @ & R
e | AtHp | Wkt Pk vy av) | A =Jv L R 15 7 Masv
e |mrar | wor | EE | R | Pus | avy |t | | gt | gt | ooy |-y g | FOUR BT g aaldl
ool B B AT B ot | o | o | #oT e S AT JA ] e Pl S KT ol ISR =T
AR 15| AT A7 e ek (m) (&) > ALAAL T 7
B HIVP ¢ 50 T
GX ¢ 75 DP=0.9m | 236.744 17 58 20 1 19 5 5 0 2 4 1 1 272.6 13.6 236.1
GX ¢ 100 DP=0.9m| 102.120 11 25 12 1 14 4 4 1 0 2 2 1 130.0 6.5 100.8
GX 9150 DP=0.9~1.3m| 297.682 33 59 35 1 35 14 16 2 1 6 3 4 496.0 24.8 298.5 6.0 20 4
G 636.546 23 25 3 3 12 6 6 898.6 45 635.4 6.0 20 4




MRS

GXJ¥ ¢ 75mm i Hl T R 239.194
DP=0.9m AR R 236.744
# ¥t Bl & MEHER B = HE 53

=8 & GX%& 4.000 50 200.000
H 4] (=4 GX% 0.840 1 0.840
H ] & GX%& 0.970 1 0.970
H 4] (=4 GX% 1.740 1 1.740
H ] & GX%& 3.760 1 3.760
H 4] (=4 GX% 2.110 1 2.110
H ] & GX%& 1.000 1 1.000
H 4] (=4 GX% 1.000 1 1.000
H ] & GX%& 1.310 1 1.310
Z %) g ™ GX% 0.930 1 0.930
Z 15 & GX# 0.930 1 0.930
Z %) g ™ GX% 2.860 1 2.860
Z 15 & GX# 1.300 1 1.300
Z ) et GX* 2.390 1 2.390
Z ) E ™ GX%& 2.580 1 2.580
Z %) & ™ GX% 2.290 1 2.290
Z ) E ™ GX%& 0.960 1 0.960
Z %) & ™ GX& 1.000 1 1.000
i & 45° 0.400 7 2.800
L] = il (=4 45° 0.140 3 0.420
i & 22 1/2° 0.360 2 0.720
fh (=4 11 1/4° 0.340 2 0.680
Z 5 & H=450mm 0.730 2 1.460
% % & | 100X $75 0.410 1 0.410




MRS

GXJ¥ ¢ 75mm i Hl T R 239.194
DP=0.9m AR R 236.744
# Bl Bl & MEHER & HE 53
F & T 5 & ¢ 75X ¢ 75 0.440 2 0.880
Z2E RV S ® 75X 150L 2
SO e 2
FCD #1 T X W Kk & H 2 (HEAKFR)
HE 7K S f# | ¢500X690H 2 (FET)
ik i ¢ 75 0.190 4 0.760
Y 7 b — v Al 8 A | ZEZARL ¢ 75 0.490 5 2.450
Tt o # & B |H=510~690mm|| @EHEHH R 5
% = gl i HIEE 20
% = gl TS T4 0.029 16 0.464
£ = gl il PUL 0.180 1 0.180
% = gl i GUv7 19
Fcp & g | PIPoTOA 1

¢ O




MRS

GXJ% ¢ 100mm i Hl T R 104.080
DP=0.9m AR R 102.120
# Bl Bl & MEHER B = HE 53
IR & GX# 4.000 20 80.000
H 4] (=4 GX% 2.000 1 2.000
H ] & GX%& 1.020 1 1.020
H 4] (=4 GX% 3.000 1 3.000
H ] & GX%& 1.350 1 1.350
H 4] (=4 GX% 1.920 1 1.920
Z 15 & GX# 1.910 1 1.910
Z %) & ™ GX% 1.000 1 1.000
Z 15 & GX# 0.880 1 0.880
Z %) & ™ GX% 0.980 1 0.980
Z ) E ™ GX%& 0.840 1 0.840
Z ) it GX& 1.000 1 1.000
i & 111/4° 0.360 1 0.360
i et 22 1/2° 0.380 2 0.760
i & 45° 0.420 2 0.840
i = il (=4 45° 0.160 2 0.320
Z 5 & H=300mm 0.730 1 0.730
% K % % | ¢150X ¢ 100 0.410 2 0.820
- % T 7 & | $100X ¢100 0.440 1 0.440
-~ % T 7 | ¢l00X ¢75 0.440 1 0.440
F &~ T = % ¢ 100X ¢ 75 0.440 1 0.440
Z2 RV S ® 75X 150L 1
RS T RN !
AT b AR FOHE kA HA 1




MRS

GXJ¥% ¢ 100mm e Bl E R 104.080
DP=0.9m AT R R 102.120
2z E B 1% EHE & o R I R
1H U\ ES f# | ¢500Xx690H 1 (FELe)
Ak i ¢ 100 0.200 3 0.600
Y 7 b ¥ o— v AR ) | AL ¢ 100 0.490 4 1.960
tt 9 # #E - B H |H=510~690mm| EHERH PR 4
% = gl il RIpE 12
% = 0 TS FAF 0.029 10 0.290
% = il e PUL 0.180 1 0.180
% = 0 TS GU>7 14
DIPH] ¢ 100

FCD (=g ¥

¢ HBORAT&




MRS
GXJ% ¢ 150mm i Hl T R 305.382
DP=0.9m~1.3m AR R 297.682
# ¥t Bl & MEHER & HE 53

IR & GX& 5.000 45 225.000
H 4] (=4 GX% 0.810 1 0.810
H ] & GX%& 1.000 1 1.000
H 4] (=4 GX% 3.630 1 3.630
H ] & GX%& 1.830 1 1.830
H 4] (=4 GX% 0.900 1 0.900
H ] & GX%& 1.700 1 1.700
H 4] (=4 GX% 2.760 1 2.760
H ] & GX%& 3.900 1 3.900
H 4] (=4 GX% 2.020 1 2.020
H ] & GX%& 2.700 1 2.700
H 4] (=4 GX% 2.000 1 2.000
H ] & GX%& 1.000 1 1.000
H 4] (=4 GX% 1.790 1 1.790
H ] & GX%& 4.050 1 4.050
H 4] (=4 GX% 1.090 1 1.090
H ] & GX%& 1.300 1 1.300
H 4] (=4 GX% 1.030 1 1.030
Z ) & GX& 1.160 1 1.160
Z ) 1 i GX%& 1.000 1 1.000
Z ) & GX& 0.930 1 0.930
Z ) 1 i GX%& 0.900 1 0.900
Z 2 E ™ GX%& 3.030 1 3.030
Z ) (1 i GX%& 2.520 1 2.520




MRS

GXJ% ¢ 150mm i Hl T R 305.382
DP=0.9m~1.3m AR R 297.682
) ¥t Bl & MEHER & HE R

Z 2 E ™ GX%& 0.900 1 0.900
Z ) H i GX% 1.000 1 1.000
Z ) E ™ GX%& 1.000 1 1.000
Z ) H i GX% 0.800 1 0.800
Z ) E ™ GX%& 2.330 1 2.330
Z ) H i GX% 2.380 1 2.380
Z ) & GX& 1.820 1 1.820
Z ) et GX* 1.800 1 1.800
Z 2 E ™ GX%& 2.230 1 2.230
Z ) H i GXH 1.000 1 1.000
i & 45° 0.470 6 2.820
] et 11° 0.370 2 0.740
] % i & 45° 0.200 6 1.200
i = il (=4 22° 0.140 1 0.140
Z ¥ & | ¢150x300H 0.820 2 1.640
@] =~ 51 s ¢ 150 0.020 1 0.020
- =% T 5 & | $150X ¢ 150 0.560 3 1.680
-~ % T 7 E | $150X 100 0.480 1 0.480
- % T 3 ¥ ¢ 150X ¢ 75 0.450 3 1.350
F o T F & | 6150X¢75 0.440 3 1.320
2 VA ¢ 75X 150L 2
Z2 RV S ® 75X 500L 1
RS T RN 2
AT b AR A kAR HQ 2




MRS

GXJ% ¢ 150mm e IE R 305.382
DP=0.9m~1.3m AT R R 297.682
2z £ B 1% EHE & & I R
SO A e I
FCD #1 T X {H k #& B 1
iH U\ e f# | ¢500Xx690H 2 (FELe)
HE K I f# | ¢500X690H 1 (FaT)
Y 7 h¥o— v ) | AL ¢ 150 0.550 14 7.700
(R R T JE & |H=510~690mm| A 16 Rk EEE Te
1 & 0 i LA 35
% = 0 TS PU> 0.210 1 0.210
% = il e GV 35
Ak i ¢ 150 0.240 7 1.680
% = il il 4 0.039 28 1.092
A Wro oAk BT = 4 |[DIPA ¢200X ¢ 150 1
oW oAk N o T DIPH ¢ 150 1
FCD H &S tE | DIPH ¢ 150 KD 4
H I \ P ¢ 50 KHED 6.0 m
SNy 7Y v b ¢ 50 KO H 16
A - 1 N 7 ¢ 50 KD H 4
7 & W o= R ¢ 65X ¢ 50 KR 4
H I - % 7N $ 50 KRV H 8
Wkt T7TH 7 E — KD 4
SNV TRy 7R ¢ 200 PVCHl 8 R D F
\Y U ¢ 200 9.0 m




b E o E GXJZ ¢ 75mm L=4.0m/7A
g ZYVE o | ) A iy
1 0.840 1.300 0.930 Z 0.930 3
2 0.970 2.390 it 0.640 2
3 1.740 0.930 0.960 Z 0.370 3
4 3.760 it 0.240 1
5 2.110 1.000 Z 0.890 2
6 1.000 2.860 Z 0.140 2
7 1.000 2.580 it 0.420 2
8 1.310 2.290 Z 0.400 2
7 17
b &g o= GXJE ¢ 100mm L=4.0m/A
H )4 CHVE ZO)E CEVE (M) PR i
1 2.000 1.910 4 0.090 2
2 1.020 0.880 0.980 4 1.120 3
3 3.000 4 1.000 1
4 1.350 1.000 1.000 4 0.650 3
5 1.920 0.840 4 1.240 2
7 11




b &g = GXJE ¢ 150mm L=5.0m/A
H )4 CHVE ZO)E CEVE (M) PR i

1 0.810 1.160 0.900 & 2.130 3
2 1.000 2.520 4 1.480 2
3 3.630 1.000 4 0.370 2
4 1.830 1.000 4 2.170 2
5 0.900 3.030 4 1.070 2
6 1.700 1.000 4 2.300 2
7 2.760 2.230 4 0.010 2
8 3.900 iy 1.100 1
9 2.020 0.900 4 2.080 2
10 2.700 iy 2.300 1
11 1.950 2.330 4 0.720 2
12 1.000 1.820 0.800 & 1.380 3
13 1.790 1.000 4 2.210 2
14 4.050 iy 0.950 1
15 1.090 1.800 iy 2.110 2
16 1.300 0.930 iy 2.770 2
17 1.030 2.380 Z 1.590 2
A 33




B —NEHE
=3 £&| ¢ 75mm DP=0.9m | ¢ 100mm DP=0.9m| ¢ 150mm=0.9~1.3m Ea
EAMRIER 236.744 102.12 297.682
T kAR 5 5 1 2 3

0.664 0.664 0.664
MoOR E| 236.08] 100.79)| 295.69| | 632.562 |

2.80 (NIBr7Kk 26& AT

IR 236.1 | 100.8 | 298.5 | | 635.4 |
BEFRT—TEHK
5 7 ¢ 75mm ¢ 100mm ¢ 150mm 3
=N s 50 20 45 115.0
1) 5 8 5 17 30.0
MoR B 272.6 130.0 496.0 898.6
1ARH 7D 4.7 5.2 8
w A ] 13.6 6.5 24.8 | 45|

% /20m
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WEEE
DIP ¢ 75mm-* ¢ 100mm-* ¢ 150mm

B T B 1% ¥ B | B

WMEE R ETHEATL DIP ¢ 75 240.0 m
EE D LT HEAL DIP ¢ 100 104.0 m
WmEEDEIHIAL DIP ¢ 150 270.0 m
% ' 4 W L DIP ¢ 75 70 N
% ' 4 W L DIP ¢ 100 30 =
e % ' 4 W L DIP ¢ 150 79 =
m = B #E #k #® 4t L=25kmPL T [
W o= B L 4 % 10.3 t
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HIVP ¢ 20

0.90

o

at

140.4m

140.40




TR A AR

@
oK -
a3t |t
¢ 50~ ¢ 20
HjE 39
2SR T t=bcm m| 267.6 | 267.6 270
LR g ool A A R R
0.20BH t=10cmPA F  |m| 72.4 72.4 72
A H T 0.20BH m| 71.6 71.6 70
JEEI LT ANJJ m| 19.8 19.8 20
MRET (&ET) 0.20BH m| 21.0 21.0 21

MRT (AT 0.20BH m | 26.1 26.1 26

HRET (AT N m| 19.8 19.8 20
A T »E+ m| 42.6 42.6 43
A T AS m| 3.6 3.6 4

BAEAE L ]
T B R T t=19cm m| 72.4 72.4 72

RENESy Vi 7 SO A N [N R
b JE A T t=15cm |nt| 72.4 72.4 72

PRI T ATy

FJE T (H8) t=5cm PK3 |ni| 72.4 72.4 72




+TITHEE
HiE 3978
Bk

HIVP ¢ 20mm DP=0.9m

NS B -3 FRL (1H&5 Ao 720)

Z: 1k (0.5%1.0%0.9=0.45m1)

) B 1k (0.5%1.0%0.3=0.1513)
B AR HIVP ¢ 20 BemdEE 085 m
AL RS 0.05 m KR 025 m BB+
BIEOME 0.020 m eidE 031 m AL
AR B 0.025 m Bz 019 m  FERE
HEHE 060 m W 015 m  EEpm
AS 0.05 m
PEHIIE 140.40 140.4
ERTERR G T
t=5cm 140.40 2 + 0.60 X 44 = 267.6
—( 0.45 44 X 2 ) LAHE
SRR EUE T
As t=10cmlLF 140.40 0.60 = 72.4
—( 0.45 0.60 X 44.00 )
R AR 1
140.40 0.60 X 0.85 = 71.6
NVALE e AT %] &P
0.45 44 + 0.15 X 0 = 19.8
HET (ZEL)
( 0.60 0.25 - 0.025 2
T — 4 X 140.40 = 21.0
HERT G4+
140.40 0.60 X 0.31 = 26.1
AJHRET (F4E1)
19.8
Ay T R+
71.6 26.1 - 0.9 = 42.6
Ay T(AS)
72.4 0.05 = 3.6
NEL R
FAEYLARA t=19cm 140.40 0.60 = 72.4
RC-40 —( 0.45 0.60 X 44.00 )
b JE A T
F/ERIFATEA t=15cm 140.40 0.60 = 72.4
RM-40 —( 0.45 0.60 X 44.00 )
=AM
PRI 23 t=5cm 140.40 0.60 = 72.4
PK—3 - 0.45 0.60 X 44.00 )







w®oOE L Bl & ® =
= RN Al =y P = O T G ¢ 20 224
Fov 4K ke g A T DIP ¢ 75X ¢ 20 30
[N~ /N - =R V. DIP ¢ 100X ¢ 20 6
[N~ /N - =R V. DIP ¢ 150 X ¢ 20 8
= 7 HY fF T ¢ 20 44
ok & W fF T ¢ 20 44
SR N - SRS v = R ¢ 20 44
¥ W R ¥y — b+ T 140.4
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BERR ke w1k KRET LD ET A—H—ET
ey T R R T
0 1 0 0
513 20 525 30
MRIER |7 n T T Ay T T T T T T A T T, 000 T
L I 0.00 524,00 0.00 .
NETIER) 010 050
"""" R X Y
KA RHE R R
e JEHE B AL
Am/ A
H ! v L S 51 202.0
b—
H I / b‘ b4 I\ _--_--_--_--_--_-?6-2-0 ------------- 65
~ b—
H 1 = R |- 55 0
. a
H I ¥ % v 7 TS m
HARF b FE A—o va
- 2 = F v 520 0
. 0.5m/A
N A Bl | L e e o o e e e e e e e e e e e e e b e e e e 2
- L % v 7 IV B 520 04
b—
o S I K
Z 1k 7K e 20 m
b—
~ S U S
4k ook R B PVCHEL 3100 X [1500~700mm 44
b—
TR 5100 X H500~700mm
~ b—
P R N A S S —— 50 :
b—
o S I K
[l 1k 7K e 530 5
b—
N I\ <o S I K
ror o kR DIP $ 75X 20 30
_________________________________________________________ a
DIP ¢ 100 X 20 6
_________________________________________________________ a
DIP ¢ 150 X 20 8
m
= | s D — e
Feomos v b i [50m 140.4




RAREME—R

\ ‘ T
#H y vk | BN avee | mveam | vrok [mamee | rvo7 | Revron | er—x | 2250 | TR | cke | G881 mikee /ﬁ%?» SVEE
n W R
[ k4B S A XK | | g m 8Kz 3 m % m DB | fEE | DR | g | DR | | X E | EE | xR | EE | B | fEE | DR | IEE | 0B | EE | DR | dEE | e | e | B | fEd | o | lEk | R | fEs
® 20 o dbkie 15020 1 20 3.2 20 1.4 20 4.6 20 2 20 4 20 1 20 1 20 1 20 1
@ 20 bk 75X20 1 20 3.2 20 1.4 20 4.6 20 2 20 4 20 1 20 1 20 1 20 1
@ 20 H—1kkie 75X20 1 20 3.2 20 1.4 20 4.6 20 2 20 4 20 1 20 1 20 1 20 1
@ 20 bk 75X20 1 20 3.2 20 1.4 20 4.6 20 2 20 4 20 1 20 1 20 1 20 1
@ 20 H—Ikkie 75X20 1 20 3.2 20 1.4 20 4.6 20 2 20 4 20 1 20 1 20 1 20 1
@ 20 bk 75X20 1 20 3.2 20 1.4 20 4.6 20 2 20 4 20 1 20 1 20 1 20 1
@ 20 H—1kkie 75X20 1 20 3.7 20 1.4 20 5.1 20 2 20 4 20 1 20 1 20 1 20 1
20 bk 75X20 1 20 3.7 20 1.4 20 5.1 20 2 20 4 20 1 20 1 20 1 20 1
@ 20 H—1kkie 75X20 1 20 1.5 20 1.4 20 2.9 20 1 20 4 20 1 20 1 20 1 20 1
20 bk 75X20 1 20 1.5 20 1.4 20 2.9 20 1 20 4 20 1 20 1 20 1 20 1
@ 20 1k kiR 75X20 1 20 1.5 20 1.4 20 2.9 20 1 20 4 20 1 20 1 20 1 20 1
@ 20 bk 75X20 1 20 1.9 20 1.4 20 3.3 20 1 20 4 20 1 20 1 20 1 20 1
@ 20 H—1kkie 75X20 1 20 1.9 20 1.4 20 3.3 20 1 20 4 20 1 20 1 20 1 20 1
@ 20 bk 75X20 1 20 1.9 20 1.4 20 3.3 20 1 20 4 20 1 20 1 20 1 20 1
@ 20 H—Ikkie 75X20 1 20 1.9 20 1.4 20 3.3 20 1 20 4 20 1 20 1 20 1 20 1
20 bk 15020 1 20 5.4 20 1.4 20 6.8 20 2 20 4 20 1 20 1 20 1 20 1
@ 20 1k kiR 75X20 1 20 3.6 20 1.4 20 5.0 20 1 20 4 20 1 20 1 20 1 20 1
20 bk 75X20 1 20 3.6 20 1.4 20 5.0 20 1 20 4 20 1 20 1 20 1 20 1
20 1k kiR 75X20 1 20 3.6 20 1.4 20 5.0 20 1 20 4 20 1 20 1 20 1 20 1
@ 20 bk 75X20 1 20 3.6 20 1.4 20 5.0 20 1 20 4 20 1 20 1 20 1 20 1
@ 20 H—1kkie 75X20 1 20 3.6 20 1.4 20 5.0 20 1 20 4 20 1 20 1 20 1 20 1
@ 20 bk 75X20 1 20 3.6 20 1.4 20 5.0 20 1 20 4 20 1 20 1 20 1 20 1
@ 20 H—1kkie 75X20 1 20 3.6 20 1.4 20 5.0 20 1 20 4 20 1 20 1 20 1 20 1
@ 20 bk 75X20 1 20 3.6 20 1.4 20 5.0 20 1 20 4 20 1 20 1 20 1 20 1
@ 20 1k kiR 75X20 1 20 1.6 20 1.4 20 3.0 20 1 20 4 20 1 20 1 20 1 20 1
@ 20 bk 75X20 1 20 1.6 20 1.4 20 3.0 20 1 20 4 20 1 20 1 20 1 20 1
@ 20 H—1kkie 75X20 1 20 1.6 20 1.4 20 3.0 20 1 20 4 20 1 20 1 20 1 20 1
20 bk 75X20 1 20 1.6 20 1.4 20 3.0 20 1 20 4 20 1 20 1 20 1 20 1




RAREME—R

. HIVP . <00° . P o | AH— | TLFRTT LEE | ARy e
. NIV s : PN SO s s 8
F2 N ‘ PR (#38) HIVP(R) | HIVP(£{K) Yok | AR Fxy7 | REYroh | REF-X LD ST TR | pycm) 2 P AR AR SVEE
) R
[ b4 R ® AEXHAR | g | 1| m HEE| m % m DB | fEE | DR | g | DR | | X E | EE | xR | EE | B | fEE | DR | IEE | 0B | EE | DR | dEE | e | e | B | fEd | o | lEk | R | fEs
20 | HabAkAR | 75%20 1 20 | 1.6 | 20 | 14 20 3.0 20 | 1 20 | 4 | 20| 1 20 | 1 20 | 1 20 | 1
20 | #ukAkEE | 75%20 1 20 | 16 | 20 | 14 20 3.0 20| 1 [ 20| 4 |2 | 1 20| 1 [ 20| 1 ]2 |1
@D 20 | HdbAkAR | 75%20 1 20 | 1.6 | 20 | 14 20 3.0 20 | 1 20 | 4 | 20| 1 20 | 1 20 | 1 20 | 1
7} 20 | #ukAkEE | 75%20 1 20 | 16 | 20 | 14 20 3.0 20| 1 [ 20| 4 |2 | 1 20| 1 [ 20| 1 ]2 |1
@ 20 | H—IkAkEe | 15020 1 20 | 55 | 20 | 1.4 20 6.9 20| 2 [ 20| 4 |2 |1 20 | 1 20 | 1 20 | 1
3D 20 | #lkkEe | 15020 1 20 | 44 | 20 | 14 20 5.8 20| 2 [ 20| 4 [ 2 | 1 20| 1 [20| 1 [2 | 1
@ 20 | HlkAkEe | 15020 1 20 | 44 | 20 | 14 20 5.8 20| 2 [ 20| 4 |2 |1 20 | 1 20 | 1 20 | 1
20 | #lkkEe | 150%20 1 20 | 44 | 20 | 14 20 5.8 20| 2 [ 20| 4 [ 2 | 1 20| 1 [20| 1 [2 | 1
@) 20 | HlkkEe | 15020 1 20 | 44 | 20 | 14 20 5.8 20| 2 [ 20| 4 |2 |1 20 | 1 20 | 1 20 | 1
20 | sE—lksktE | 100x20 1 20 | 44 | 20 | 14 20 5.8 20| 2 [ 20| 4 |2 | 1 20| 1 [ 20| 1|2 |1
20 | #lkAkEe | 100%20 1 20 | 44 | 20 | 14 20 5.8 20| 2 [ 20| 4 |2 |1 20 | 1 20 | 1 20 | 1
20 | -1kt | 100x20 1 20 | 44 | 20 | 14 20 5.8 20| 2 [ 20| 4 |2 | 1 20| 1 [20| 1 |2 |1
()] 20 | #lkkEe | 100%20 1 20 | 44 | 20 | 14 20 5.8 20| 2 [ 20| 4 |2 |1 20 | 1 20 | 1 20 | 1
20 | #lkkEe | 100X20 1 20 | 44 | 20 | 14 20 5.8 20| 2 [ 20| 4 |2 | 1 20| 1 [ 20| 1|2 |1
20 | #—IkAkEe | 100%20 1 20 | 44 | 20 | 14 20 5.8 20| 2 [ 20| 4 |2 |1 20 | 1 20 | 1 20 | 1
@ 20 | 8E-dkktE | 15020 1 20 | 52 | 20 | 14 20 6.6 20| 2 [ 20| 4 [ 2 | 1 20| 1 [20| 1 [2 | 1
HIVPYE & (355H) 920 118.4
SN N
R (i) 620 22.0 13 0 13 0 13 0 3]0 3]0 13| 0 |20x13| 0 |25%20| 0 130 130 130 20
+THER HE 140.4 20 | 1404 | 20 | 61.6 | 20 | 202.0 | 20 | 65 | 20 |176 | 20 | 44 20 | 0 20 | 44 | 20 | 44 [500L| 44 | 20 | © 20 | 0 | o
BERHEwE 0 25 0 25 0 25 0 25 | 0 25 | 0 25 | 0 25 | 0 25 | 0 25 | 0 25 | 0 25 | 0 it | 0
Bl RKEEETHR | 4 30 0 30 0 30 0 30 | 0 30 | 0 30 | 0 30 [ 0 30 [ 0 30 | 0 30 [ 0
ZAEWETHR 0 10 0 10 0 10 0 10 | 0 10 | 0 10 | 0 10 | 0 10 | 0 10 | 0 10 | 0
Ap-FTHR 0 50 0 50 0 50 0 50 | 0 50 | 0 50 | 0 50 | 0 50 | 0 50 | 0 50 | 0
FARE B T 20 44T 75X 20 30
FARE B T 25 Ot 100 X 20 6
FARE B T 30 Ofifit 150 X 20 8
RKE R T 10 Ofi At
Fa KA T 50 OfE AT B 44 # 1404 | & 61.6 B 202.0 # 65 # 176 | & 44 it 0 it 0 # 0 # 44 # 44 # 4 | F 0 # 0 # 0 # 0




TBEE

No. TEM g |EIEFK| BTERM) | ARERE) |XEMERF)| BREEHE) | FEE®0) #E
1 TV I RIRER H=2.0 1 2.0 0.196
B 0.196
S : 2877/H

ERRERMIR | RIRM W=0.333m H=2.00m t=0.04m
e L#  |W=0.115m H=2.00m t=0.08m
IE ) L= 0960 m

XK RRIIIME Y IMERE L T 5,




